
CPGE MPSI 3 Le 21.10.2022

NOM & Prénom :

Calcul - 10 minutes

Exercice

1. Pour chacune des expressions suivantes, dériver puis factoriser l’expression ; puis intégrer l’ex-
pression

— f1(t) =
t2

t3 − 1

— f2(t) =
1

t4
+

1

t
√

2
— f4(t) = sin t× cos2 t

— f5(t) = te−t2

— f6(t) =
sin(ln t)

t
2. Calculer

—

∫ 3

1

x + 2

x2 − 4x + 5
dx

—

∫ π
4

−π
3

| cosx sinx|dx

—

∫ 2

0

10xdx
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1. Pour chacune des expressions suivantes, dériver puis factoriser l’expression ; puis intégrer l’ex-
pression

— f1(t) =
3t− 1

t2 + 1

— f2(t) =
√
t− 1

t3
— f4(t) = sht× cht

— f5(t) =
1− ln t

t

— f6(t) =
t√

1− t2

2. Calculer

—

∫ π
6

0

tanxdx

—

∫ π
4

−π
4

arcsin(x)dx

—

∫ 1

0

chxdx


